Bid #442-11418 - Gate Valves

Start Date Apr 21, 2014 5:22:26 PM EDT Awarded Date Not Yet Awarded

442-1141801- 01 4" Flanged End G a	te Valve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Traeger Brothers	First Offer	- \$199.32	25 / each	\$4,983.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: United Water Products Model offered: 1010FF-140			
Northrock Enterprises, LLC	First Offer	- \$217.46	25 / each	\$5,436.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: A	Make offered: Allw	vin Valves	
HD Supply Waterworks, Ltd. [Ad]	First Offer	- \$273.00	25 / each	\$6,825.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A236206LH			
Fortiline Waterworks, Inc.	First Offer	- \$276.00	25 / each	\$6,900.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: mueller Model offered: A4236206LH			
A&B PIPE & SUPPLY, INC.	First Offer	- \$277.92	25 / each	\$6,948.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: 0	Make offered: MUE	ELLER	
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	- \$281.55	25 / each	\$7,038.75		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: US PIPE Model offered: 040AUSPO06LH			
ConsolidatedPipe & Supply Inc	First Offer	- \$296.00	25 / each	\$7,400.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A2360-06			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	- \$310.22	25 / each	\$7,755.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: K	Make offered: Ken	inedy	

442-1141801-02 4" Mech. Joint Gate	e Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Traeger Brothers	First Offer - \$199.32	60 / each	\$11,959.20		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Products Model offered: 1	Make offered : Unit	ed Water	
Northrock Enterprises, LLC	First Offer - \$217.46	60 / each	\$13,047.60		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model offered: A	Make offered : Allw	in Valves	
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$275.51	60 / each	\$16,530.60		Υ
Product Code:		Supplier Product	t Code:		

			Supplier Notes: I Model offered: A	\$16,800.00 Y			
Fortiline Waterworks, Inc.	First Offer -	\$280.00	60 / each	\$16,800.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: A	Make offered : MUE	LLER		
A&B PIPE & SUPPLY, INC.	First Offer -	\$280.49	60 / each	\$16,829.40		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: 0	Make offered : MUE	LLER		
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$284.15	60 / each	\$17,049.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: 0	Make offered: US I	PIPE		
ConsolidatedPipe & Supply Inc	First Offer -	\$299.00	60 / each	\$17,940.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: A	Make offered: Mue	eller		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$315.50	60 / each	\$18,930.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: K	Make offered : Ken	nedy		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
	First Offer	- \$269.93	25 / each	\$6,748.25	Atton.	Y	
Traeger Brothers Product Code: Agency Notes:	TELEST OTHER	- \$205.53	Supplier Product	t Code: Make offered: Unit	ed Water		
Northrock Enterprises, LLC	First Offer	- \$343.35	25 / each	\$8,583.75		Υ	
Product Code: Agency Notes:	11		Supplier Product Code: N/A Supplier Notes: Make offered: Allwin Valves Model offered: Allwin Valves				
HD Supply Waterworks, Ltd. [Ad]	First Offer	· +357.05	25 / each	\$8,926.25		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A236206LH				
Fortiline Waterworks, Inc.	First Offer	- \$362.63	25 / each	\$9,065.75		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: A236206LH				
A&B PIPE & SUPPLY, INC.	First Offer	· \$363.56	25 / each	\$9,089.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: 0	Make offered: MUE	ELLER		
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	- \$368.29	25 / each	\$9,207.25		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: US PIPE Model offered: 060AUSPO06LH				
ConsolidatedPipe & Supply Inc	First Offer	- \$388.00	25 / each	\$9,700.00		Υ	
Product Code: Agency Notes:		-	Supplier Product Supplier Notes: I Model offered: A	Make offered: Mue	eller		

UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$419.99	25 / each	\$10,499.75	Υ
Product Code:		Supplier Produc	t Code:	
Agency Notes:		Supplier Notes:	Make offered: Kennedy	
		Model offered: k	Kennedy	

442-1141801- 04 6" Mech. Joint Gat	e Valve						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Traeger Brothers	First Offer	- \$269.93	325 / each	\$87,727.25		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Products Model offered: 1	Make offered: Unit	ted Water		
Northrock Enterprises, LLC	First Offer	- \$343.35	325 / each	\$111,588.75		Υ	
Product Code: Agency Notes:			Supplier Product Code: N/A Supplier Notes: Make offered: Allwin Valves Model offered: Allwin Valves				
HD Supply Waterworks, Ltd. [Ad]	First Offer	- \$343.86	325 / each	\$111,754.50		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered: A	Make offered: Mue	eller		
A&B PIPE & SUPPLY, INC.	First Offer	- \$348.47	325 / each	\$113,252.75		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: 060A236223LN				
Fortiline Waterworks, Inc.	First Offer	- \$349.19	325 / each	\$113,486.75		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered: A	Make offered: MUE	ELLER		
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	- \$354.64	325 / each	\$115,258.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: US PIPE Model offered: 060AUSPO23LN				
ConsolidatedPipe & Supply Inc	First Offer	- \$374.00	325 / each	\$121,550.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered: A	Make offered: Mue	eller		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	- \$400.00	325 / each	\$130,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered: K	Make offered: Ken	inedy		

442-1141801- 05 8" Flanged end Ga	te Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Traeger Brothers	First Offer - \$486.32	30 / each	\$14,589.60		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Products Model offered: 1	Make offered: Unit	ed Water	
Northrock Enterprises, LLC	First Offer - \$523.20	30 / each	\$15,696.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model offered: A	Make offered : Allw	vin Valves	;
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$570.29	30 / each	\$17,108.70		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code: Make offered: Mue	eller	

			Model offered: A	236206LH		
Fortiline Waterworks, Inc.	First Offer -	\$579.09	30 / each	\$17,372.70		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: A	Vake offered : MUE	LLER	
A&B PIPE & SUPPLY, INC.	First Offer -	\$580.58	30 / each	\$17,417.40		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: 0	Make offered : MUE	LLER	
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$588.13	30 / each	\$17,643.90		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: 0	Make offered: US F	PIPE	
ConsolidatedPipe & Supply Inc	First Offer -	\$619.00	30 / each	\$18,570.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: A	Make offered : Mue	ller	
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$655.40	30 / each	\$19,662.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model offered: K	Make offered : Ken	nedy	

442-1141801-06 8" Mech. Joint Gat	e Valve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Traeger Brothers	First Offer	- \$486.32	75 / each	\$36,474.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: United Water Products Model offered: 1010MM-180			
Northrock Enterprises, LLC	First Offer	- \$523.20	75 / each	\$39,240.00		Υ
Product Code: Agency Notes:			Supplier Product Code: N/A Supplier Notes: Make offered: Allwin Valves Model offered: Allwin Valves			
HD Supply Waterworks, Ltd. [Ad]	First Offer	+ \$559.71	75 / each	\$41,978.25		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A236223LN			
A&B PIPE & SUPPLY, INC.	First Offer	- \$567.19	75 / each	\$42,539.25		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: 080A236223LN			
Fortiline Waterworks, Inc.	First Offer	- \$568.35	75 / each	\$42,626.25		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: A236223LN			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	- \$572.29	75 / each	\$42,921.75		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: US PIPE Model offered: 080AUSPO23LN			
ConsolidatedPipe & Supply Inc	First Offer	- \$608.00	75 / each	\$45,600.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A2360-23			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	- \$645.00	75 / each	\$48,375.00		Υ

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes: Make offered: Kennedy
Model offered: Kennedy

442-1141801- 07 10" Flanged end G	ate Valve					
Supplier	Unit F		Qty/Unit	Total Price	Attch.	Docs
Traeger Brothers	First Offer - \$64	8.80	5 / each	\$3,244.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: United Water Products Model offered: 1010FF-200			er
Northrock Enterprises, LLC	First Offer - \$83	7.12	5 / each	\$4,185.60		Υ
Product Code: Agency Notes:			Supplier Production Supplier Notes: Model offered:	Make offered: All	win Valv	es
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$90	6.28	5 / each	\$4,531.40		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A236206LH			
Fortiline Waterworks, Inc.	First Offer - \$92	0.24	5 / each	\$4,601.20		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: A236206LH			
A&B PIPE & SUPPLY, INC.	First Offer - \$92	2.60	5 / each	\$4,613.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered:	Make offered: MU	JELLER	
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$93	4.61	5 / each	\$4,673.05		Υ
Product Code: Agency Notes:			Supplier Produc Supplier Notes: Model offered:	Make offered: US	S PIPE	
ConsolidatedPipe & Supply Inc	First Offer - \$98	4.00	5 / each	\$4,920.00		Υ
Product Code: Agency Notes:			Supplier Production Supplier Notes: Model offered:	Make offered: Mu	ıeller	
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$1,04	5.00	5 / each	\$5,225.00		Υ
Product Code: Agency Notes:			Supplier Produc Supplier Notes: Model offered:	Make offered: Ke	nnedy	

442-1141801- 08 10" Mech. Joint Gate Valve								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traeger Brothers	First Offe	r - \$648.80	15 / each	\$9,732.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: United Water Products Model offered: 1010MM-200					
Northrock Enterprises, LLC	First Offe	r - \$837.12	15 / each	\$12,556.80		Υ		
Product Code: Agency Notes:			Supplier Product Code: N/A Supplier Notes: Make offered: Allwin Valves Model offered: Allwin Valves					
HD Supply Waterworks, Ltd. [Ad]	First Offe	r - \$872.71	15 / each	\$13,090.65		Υ		
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered:	Make offered: Mu	ieller			

Fortiline Waterworks, Inc.	First Offer -	\$886.16	15 / each	\$13,292.40		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered:	s: Make offered: MUELLER			
A&B PIPE & SUPPLY, INC.	First Offer -	\$888.44	15 / each	\$13,326.60		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: Model offered:	Make offered: MU	JELLER		
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	\$900.01	15 / each	\$13,500.15		Υ	
Product Code: Agency Notes:			Supplier Production Supplier Notes: Model offered:	Make offered: US	S PIPE		
ConsolidatedPipe & Supply Inc	First Offer -	\$948.00	15 / each	\$14,220.00		Υ	
Product Code: Agency Notes:			Supplier Production Supplier Notes: Model offered:	Make offered: Mu	ıeller		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$1,005.00	15 / each	\$15,075.00		Υ	
Product Code: Agency Notes:			Supplier Production Supplier Notes: Model offered:	Make offered: Ke	ennedy		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Traeger Brothers	First Offer -	\$1,004.35	20 / each	\$20,087.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: United Water Products Model offered: 1010MM-220			er
Northrock Enterprises, LLC	First Offer -	\$1,090.54	20 / each	\$21,810.80		Υ
Product Code: Agency Notes:			Supplier Product Code: N/A Supplier Notes: Make offered: Allwin Valves Model offered: Allwin Valves			es es
HD Supply Waterworks, Ltd. [Ad]	First Offer -	\$1,104.04	20 / each	\$22,080.80		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A236223LN			
Fortiline Waterworks, Inc.	First Offer -	\$1,121.33	20 / each	\$22,426.60		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: A236223LN			
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,123.91	20 / each	\$22,478.20		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: 120A236223LN			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$1,138.84	20 / each	\$22,776.80		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: US PIPE Model offered: 120AUSPO23LN			
ConsolidatedPipe & Supply Inc	First Offer -	\$1,200.00	20 / each	\$24,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A2360-23			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	¢1 24E 00	20 / each	\$24,900.00	1	Υ

Agency Notes: Supplier Notes: Make offered: Kennedy Model offered: Kennedy

442-1141801- 10 16" Mech. Joint Gate Valve						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Northrock Enterprises, LLC	First Offer	\$2,012.69	4 / each	\$8,050.76		Υ
Product Code: Agency Notes:			Supplier Product Code: N/A Supplier Notes: Make offered: Allwin Valves Model offered: Allwin Valves			
Traeger Brothers	First Offer	\$2,588.69	4 / each	\$10,354.76		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: United Water Products Model offered: 1010MM-260			er
HD Supply Waterworks, Ltd. [Ad]	First Offer	\$4,302.48	4 / each	\$17,209.92		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Mueller Model offered: A236123LN			
Fortiline Waterworks, Inc.	First Offer	\$4,368.71	4 / each	\$17,474.84		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: A236123LN			
A&B PIPE & SUPPLY, INC.	First Offer	\$4,379.94	4 / each	\$17,519.76		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: MUELLER Model offered: 160A236123LN			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	\$4,421.00	4 / each	\$17,684.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: Kennedy Model offered: Kennedy			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	\$4,436.96	4 / each	\$17,747.84		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make offered: US PIPE Model offered: 160AUSPO23LN			
ConsolidatedPipe & Supply Inc	First Offer	\$4,660.00	4 / each	\$18,640.00		Υ
Product Code: Agency Notes:			Supplier Production Supplier Notes: Model offered:	Make offered: Mu	ueller	

442-1141801- 11 Gate Valves > 16 "							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traeger Brothers	First Offer - 100.00%	1 / percentage	100.00%		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 18" MJ \$3568 20" MJ \$5315 24" MJ \$9471						
ConsolidatedPipe & Supply Inc	First Offer - 72.00%	1 / percentage	72.00%		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Mueller valves will be supplied for this product						
HD Supply Waterworks, Ltd. [Ad]	First Offer - 66.58%	1 / percentage	66.58%		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Fortiline Waterworks, Inc.	First Offer - 64.00%	1 / percentage	64.00%		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Mueller gate valves						
Northrock Enterprises, LLC	First Offer - 10.00%	1 / percentage	10.00%		Υ		

Product Code: Supplier Product Code: N/A
Agency Notes: Supplier Notes:

Supplier Totals

Traeger Bro	thers	\$205,899.0	6 (11/11 items)
Bid Contact D	David Tilden Itilden@traeger.com	Address 12405 SW 130 St Miami, FL 33186	(==, == 1000)
	th 305-420- 3504		
	sample valves available upon request.		
Agency Notes	3:	Supplier Notes: Sample valves available upon request.	
Northrock E	nterprises, LLC	\$240,196.5	6 (11/11 items)
n	Dayna Campbell orthrock@govsalesteam.com Ph 954-889- 4482	Address 20911 Johnson Street Unit 132 Pembroke Pines, FL 3302	9
Agency Notes	s:	Supplier Notes:	
HD Supply V	Vaterworks, Ltd. [Ad]	\$260,036.0	7 (11/11 items)
Bid Contact	Susan Helms susan.helms@hdsupply.com Ph 407-893- 9002 Fax 407-893-7376	Address 501 W. Church Street Orlando, FL 32805	
Supplier Code	00023494		
Agency Notes	S:	Supplier Notes:	
Fortiline Wa	terworks, Inc.	\$264,046.4	9 (11/11 items)
P	lavid guthart lavid.guthart@fortiline.com Ph 772-408- 1960 lax 772-408-1963	Address 8920 SW GLADES CUT-OFF PORT ST LUCIE, FL 34986	ROAD
Agency Notes	S:	Supplier Notes:	
Consolidate	dPipe & Supply Inc	\$282,540.0	0 (11/11 items)
b	brad Becknell bbecknell@consolidatedpipe.com bh 407-293- 2001	Address 3010 Eunice Ave Orlando, FL 32808	
Agency Notes	s:	Supplier Notes:	
UTILITY SUF	PPLY ASSOCIATES, INC.	\$298,106.2	.5 (10/11 items)
S	RANK MARINO ales@utilitysupplyassociates.com h 561-493- 9900	Address 7000 NW 25TH STREET MI AMI, FL 33122	
Agency Notes	s:	Supplier Notes:	
A&B PIPE &	SUPPLY, INC.	\$264,013.3	6 (10/11 items)
Bid Contact	ARODDY MOREJON alexg@abpipe.net Ph 305-694- 2004	Address 6500 NW 37TH AVENUE MIAMI, FL 33147	
Supplier Code	0000016		
Qualifications	SB		
Agency Notes	S:	Supplier Notes:	
Lehman Pipe	e & Plumbing Supply, Inc. [Ad]	\$267,816.4	9 (10/11 items)
Bid Contact	Dennis Lehman josh@lehmanpipe.com Ph 305-576- 3054	Address 230 N.W. 29TH ST MIAMI, FL 33127	
Supplier Code	00001457		